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a+B=(13,4) & (x -3,y +4)+(2x + 1,3y +8) =(13,4) =

3x-2=13

<:>(x—3+2x+1,y+4+3y+8)=(13,4)<:>(3x—2,4y+12)=(13,4)<:>{4y+12=4<=>

3x =15 X=5
=
4y_—8

4o =P < 4- (2k+A,k—A)=(k—A—1,k—5A+3) <

8k+4h=xk—-A-1 Sk+4h—Kk+A=-1
< (Bk+4N,4k—41) =(k—A—1, k=51 +3) <

= =
A —4h=x—-51+3 4k —4h—K+51L =43

=
3k+A=3

a-3p=(18,~1) = (2A+1,34—1)-3(n-3,2u+5)=(18,-1) =

{7]{ +51=-1 Lbvovpe T GHoTHA {K =2
cee @

& (204+1,30-1) = (30 —9,6p+15) = (18,~1) = (2 +1-3p+9,31~1—6p—15) = (18,~1)

20 —-3u+10=18 2A-3u=18-10
& (20-3u+10,-6p+31-16)=(18,-1) = o

=
—Bu+3h—16=-1  |-6p+3h=-1+16

20 —3u=8 2-3u=8  [2h-3u=8 swomswooma (=]
= = = . =
—6u+3r=15 3 |-2u+r=5  |A-2u=5

50— B (—7,2)<:>5(2x+y,x y— 8) (x 1,1- y) (—7,2)
< (10x +5y,5x -5y —40)—(x-1,1-y)=(-7,2) =
< (10x+5y —x+1,5x -5y —40-1+y) =(-7,2)

< (9x+5y+1 5x—4y_41):(_7’2)©{9X+5y+1:_7 {gx+5y:_7_1

f—
5x—4y—-41=2 5x—-4y=2+41
9X+5y =-8 Movovpe o cheTNHA X=3
5x—4y =43 y=—7



